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i ¥ R 3-!?_112’3” Instructions to the Candidates
RO BT GTEcTeht o 9 H § | T 3r-a Rt o frefior FArer weait & 3R o¥ 33 Seet| / The question paper is in

the form of test booklet. All candidates will be assessed on identical questions.
ma@ﬁwmaa:maﬁwﬁqmm/mmmagmmm, @), @) 3k @) R aw i a7
helel Th &1 Her ¢ 3R Tl 39Gere 3coi HT T fRAT ST / Each objective question is provided with a text and/or

figures wherever applicable with multiple answer choices (A), (B), (C) and (D). Only one among them is correct and
most appropriate answer shall be selected.

el et TR & TET 3cci o ToIT ATl 3ieh — ofiet ¢ 3R el 1o Seeik & forw var gt atvrdia 3ta ey ghemr| / Al

objective type questions carry equal marks of THREE for a correct answer and One third negative mark will apply for
each wrong answer.

T T3 & foIT 31 3eak & WX 3T ITeld Sca? AT AT / Multiple answers for a question will be regarded as
a wrong answer.

3R 3o & T @afr 3t &7 vk 3169T NTHENR 3caT 99 el 3T 9= §1 / A separate OMR answer sheet is
provided to all candidates for answering.

FTAAR T W 4T I IeRAT T EAYEF 9&| NTAAR 77 W fawe 3R a8 39gad 3oer A Rfgaa & & e
FaeT i UISe 9T (AYell/ETell) HT TAT Y| / Read the instructions on the OMR sheet carefully. Use only Ball Point
Pen (Blue/Black) for writing on OMR sheet and marking the most appropriate answer.

79T YRR T grfeett 3N S0 & il OX T ar &t a1 d@ 4 2t a1 § RfEaa §1 8 3foard §7 @ 3w ofie & sl )
fod 3R 3T &7 & alrer o1 WA T FeT W 3ca} T FH Hedidhe 76! (AT STET| / Question booklets have been

marked with A or B or C or D or E on the right side top corner, which is mandatory to be written on the OMR sheet in
the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

grelifen G 1fer I 318 IRRYET W SIX & &, T ot 3nash fAw a5 Ageayet § o aemesre qomel &9 & 319t @ &7
3T R | S FTeT A1 FAT S5l AR & AR T Faiie o | 31T 3 YoaAT G S Fehol § R e 7 et Harer
X 919 37T Tehe! o | / Although the test stresses on accuracy more than speed, it is important for you to use your time as

effectively as possible. Do not waste time on questions, which are too difficult for you. You can go on to other questions
and come back to the difficult ones later.

AT 3RS g A TReasl # ST T W Feal F1 AT ST TehelT §1 38F forw sraer efie wil & smeaf / Space
available in the booklet could be used for rough work, if required. No separate sheet will be provided.

. TN olrer FTee glel W, MTHSIR Seak YRecenm hl SR & SieeT fRieeT § IS 3R FeT T3 Seak G foriare &
| T g@r ufer 3m9es 9 W / On completion of the Written Test, tear the OMR Answer Sheet at the perforation mark
at the top and hand over the original OMR Answer Sheet to the invigilator and retain the duplicate copy.

. gdreqT gATeT g 91 (1) forf@e advear wier o forer u¥ wieY Rrgewmar aar ¥ 31k (2) sitewsm seR 7 ders #r i § ek
forelt off aRTPufer F sre=rdf gorat @y o ST | / At the end of the test (1) Written Test Call Letter(s) with

photograph pasted on it and (2) OMR Answer Sheet should be handed over to the invigilatbr and shall not be
carried by the candidate under any circumstances.
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01.

02.

03.

04.

e 9fNeT F18 / Question Booklet Code

rafereh AT & feafafd geg & & o 7 il =81 87

Which one of the following groups of organic compound does not contain oxygen?

(A)  ufesgrss/ Aldehyde (B) UH/ Amine
(C) %W/ Ether (D) UHAES/ Amide

Th 3Tohd 31 o TET SolagiToleh [dwdIT Sl I e ?

Pick out the correct electronic configuration of an inert gas?

(A)  1s?2s?2p°®3s® (B) 3s?3p° 3d® 4s?
(C)  1s®2s?2p®3s? 3p° (D) 1s?2s*2p°

S-Sl FHEOT § / De-Broglie equation is

4.6N H,SO, %ﬂﬂﬁ@f@mﬁﬂw%/ The molarity of 4.6N H,SO, solution is

(A)  0.46 M (B) 0.23M
(C) 46M (D) 23M

dforw e (TWE @A) / Sci. Asst. (Chemistry) - 2018 - 3TEHEREVIPRC




05.

06.

07.

08.

w3 i@ #12 / Question Booklet Code| A

Teh Soigrele o ety & sifafRaaar & arorar &Y, IfE sadhr 991 F AfARadar 5.7 x 10° m/s [h=6.626x10"
kgm?s™ 3R sereFela FI gegare = 9.1x10°" kg] &

Calculate the uncertainty in the position of an electron if the uncertainty in its velocity is 5.7 x 10° m/s
[h=6.626x10 kgm®s™ and mass of electron=9.1x10"*" kg]

(A  +1x10m (B) +7.3x10%*m

(C)  #1.2x10%¥m (D) IWIed H & &5 & LT / None of the above

1 o3, A & quT &et & ToIT fehctel Tehell 3iTereiTotet hr JTTaedehar &2

How many kg of oxygen is required for complete combustion of 1 kg of methane?

A 1 (B) 4

(c) 16 (D) 3URIFT H T HIS 3T 7181 / None of the above

I & Hehel SHeilioielal Al 2220 kJigmol ¥ SHHN Ac HellIsteded Hiel HI I0AT HT [T 1T FEA

2440 kJ/kg §] / Gross calorific value of propane is 2220 kJ/gmol. Calculate its Net calorific value. [Latent heat
of steam is 2440 kJ/kg]

(A) 2217.6 kd/gmol (B) 2195.6 kd/gmol

(C)  2084.5 kJigmol (D) 2044.3 kJ/gmol

EolTSteT 375 &, T HHSIR 375 8IdT & / Among the halogen acid, the weakest acid is

(A) HF (B) HCI (C) HBr (D) HI

denfas e (W [3719) / Sci. Asst. (Chemistry) - 2018 - 3TEHREVIPRC 4




09.

10.

11.

12.

g3 9f¥&T F18 / Question Booklet Code| A

HaU godhl 31T il AT 2 / Which is the lightest gas?

(A)  giferg# / Helium (B) &msaratel / Hydrogen
(C)  arscrste / Nitrogen (D)  3iTergIsTsT / Oxygen

280 K 9¥ 25 MPa &I deh 100 ofiex STel & &THdT & 3 Rfe=R 31 axey & fow fohds fon.am. ssdiae 3 &

3TTaRYeRar &19r? / How many kg of Nitrogen gas is required to fill a gas cylinder of 100 litre water capacity to
25 MPa pressure at 280 K?

(A) 20 fwamikg (B) 30 f&.aIm/kg

(C) 40 Rram/kg (D) 50 fF.am/kg

T Scshavir 3ifHfhar A, 30Rs HTAT§ / In a reversible reaction, the catalyst

(A) 311 HTATHAT T e 7 gfg / Increases rate of forward reaction
(B)  u=emaT 3ifATeRAT T e # gfig / Increases rate of backward reaction
(C) Xt 37y 3R geaemel AR Fr X A i

Increases rate of both forward & backward reactions

(D)  3WIFd H J &S oY 76T / None of the above

FHe aut &1 AT e & fow eatf@d & & o s saaver foar sar §7?

Which among the following is used to produce artificial rain?

(A) A 3TFETSS / Copper oxide

(B) e+ AlAIFATSs / Carbon monoxide
(C) TR 3AIEEs / Silver iodide

(D) fAeax a8 / Silver nitrate

Fenfes ger s (W faae) / Sci. Asst. (Chemistry) - 2018 - 3TSHIBIRHIPRC 5




9T 9T H15 / Question Booklet Code

13, %o 3MfHEH o, FAlGE AT § / In Nessler's reagent, the ion present is

(A)  Hgl* (B) Hgls (C) Hg* (D) Hg*

14. St AgNO3 &1 e cieet famar Sirar §, ar iy 3carel @ et gl

When AgNOs is strongly heated, the gaseous products formed are

(A) NO @r/and NO, (B) NO,ddl/and O,

(C) NO, dai/and N,O (D) NOTY/and O,

15.  Tgr FEARTICH THIGIT st FT 52 / Which is the correct thermodynamic equation?

(A)  AE=AH+APV
(B) APV =AE + AH

(C) AH = AE + APV

(D)  3IWIFd #H A S5 o7 5161 / None of the above

16.  3rffohar Tad: 3R a1 §, Afe / The reaction is spontaneous and feasible if

A)  AG=0
(B) AG>0
(C) AG<0

(D)  3WIFd H A FI5 o7 5161 / None of the above

AT Gerae (I faAA) / Sci. Asst. (Chemistry) - 2018 - AENIRHIPRC




gsT 9T %13/ Question Booklet Code

17, ol AT FYUT TET Ah T Teh FEATNS TR TR R o7 gofe e &

Which statement correctly describes an endothermic chemical reaction

(A)  3curel # sifSfe i Jore 7 317 feufasr 397§, 3R A H ®omens §

The products have higher potential energy than the reactants and AH is negative

(B)  3curel & 3Hf3fshaeh & orer # 318 Reufaist Fai 8, 3R A H eeiresrs §

The products have higher potential energy than the reactants and AH is positive

(C)  Bcurel # 31f3fshaeh T Jofetr 7 ot REafcret Fatl §, 3 A H FoTer s §

The products have lower potential energy than the reactants and AH is negative

(D)  3curer # ifAfhaeh i Jefelm 7 ot FFAfaer Fai §, 3R A H eerees §

The products have lower potential energy than the reactants and AH is positive

18.  we Gares (AY) & SXTeR & / An Angstrom (A) is equal to

(A)  10° #H/m (B) 10%#H/m (€) 10° #&/m (D) 10" /m

19, IchaAvN 31MATHAT 2HI =H, + 1, 7, K, T/ In the reversible reaction 2HI =H, + I,, Ky is

(A) Ke @a;a/ Greater than K, B) K. ¥ F/ Less than K,

(C) K.F &R/ Equal to K, (D) Ts/One

20.  FaR 1 folere e GaRT & / Bleaching action of chlorine is by

(A) 319dce / Decomposition (B) STef 3199cs / Hydrolysis

(C)  319TIe / Reduction (D)  3iTeFEEROT / Oxidation

e wgrs (T f37) / Sci. Asst. (Chemistry) - 2018 - 3TEdETIPRC




21.

22.

23.

24,

weaT I F15 / Question Booklet Code| A

SheFCIS ST o Ueh ITH 3707 & 0T agel Sl TIRUTH Hlsa SISHIFHISS o fohclel ITH 3107 G192 / How many moles of

carbon dioxide would result from the complete combustion of one mole of fructose?

(A) 4 (B) 6 (C) 10 (D) 12

Tl & qadt 31t =0T e dea &

The highest electronegative element among the following is

(A) FelRet/ Fluorine (B) NI / Chlorine

(C)  ®#i=T/ Bromine (D) 3TEIER / lodine

200 T T, 300 K & 1 T2, STer & [Hement 3R ot e Tareller o feam STl &1 Ster ahr 3ifcieT arverr=T T &2

[&1%h ST aTeet FSAT = 334 kJ/kg 3R STel T C,, = 4.2 kJ/kgK]

200 g of ice is added and dissolved completely into 1 kg of water at 300 K. What is the final temperature of
water? [Latent heat of ice=334 kJ/kg and C,, of water=4.2 kd/kgK]

(A) 277K (B) 282K (C) 287K (D) 292K

AT 3 & & AT 0T T ek fAaifore 1 efiex & acier & srelm SiTa §, foree I8 31iRie &9 & fadisre giar
&1 WefoteT OX STATeTT I T 1 e 3107 gelr & | Fardioret & forw Heferet FEerish K. &

Two moles of ammonia gas are introduced into an evacuated 1 litre vessel in which it partially dissociates. At
equilibrium, 1 mole of ammonia gas remains. The equilibrium constant K, for the dissociation is

(A)  27/16 (molll)? (B)  27/4 (mol/l)?

(C)  27/8 (mol/l)? (D) 3IWIFd H F 5 T w161 / None of the above

defa TEE (I A7) / Sci. Asst. (Chemistry) - 2018 - 3TEYBEMRHVIPRC 8




25.

26.

27.

28.

w37 9f¥&T #12 / Question Booklet Code| A

Tl fld Saar 7 O 15 7 3=a SakisT= A= (kJ/kg) §7?
Which one of the following fuels has higher calorific value (kJ/kg)?

(A)  FIIer/ Coal (B) RITAT / Kerosene

(C)  wmepfdes 3 / Natural gas (D) TeLULST./LPG

T AT & 420 fF.am. & N, 3 31X 160 5.3, & O, 39 &1 =0T §1 ATt 7 N, 3 & 31adsT 1 % &1

&7 / A cylinder has a mixture of 420 kg of N, gas and 160 kg of O, gas. What is the volume % of N, gas in

the cylinder?

(A 25% (B) 38% (C) 72% (D) 75%
KRR T f&HT & / Oleum is a mixture of

(A) SO 3R/and H,0 (B) SOs 3iR/and H,S0,

(C) SO0, 3iR/and H,SO; (D) H,S0,3iR/and H,0

T dTetahcd Aol 3 Tl [eeTdl Seiaels &, foretal & Il 5 WAL? 81 31K 0.5 4. g & 3remer §1 Tor FEian arm

§7? / A conductance cell has platinum electrodes, each with 5 cm? area and separated by 0.5 cm distance.

What is the cell constant?

(A)  10¥.#HT/cm (B) 01THA T/ em™

() 02q#2/cm™ (D) 3RIFT F ¥ &S 3 =161 / None of the above

e geraw (W fA#9) / Sci. Asst. (Chemistry) - 2018 - 3TSHEMHYIPRC 9




29.

30.

31.

32.

9T YT HI5 / Question Booklet Code

UFARTSEAT 7 HCI 3R HNO, &1 faoT el seqara # 8
Aqua regia is the mixture of HCl and HNOj in the following proportion

(A) 1:3 &I 3feI4TcT / 1:3 weight ratio (B)  1:3 9 3197 37TdTcT / 1:3 mole ratio

(®)) 3:1 AR 3Fe14TT / 3:1 weight ratio (D)  3:1 91 3197 3{eqqTeT / 3:1 mole ratio

SIS Ueh 37EXT I T S[el ATAWA dled T ST Feh ed &1 I feiot a1 3 JeiRel et &, ot feiet o1 &
TR ST dTIHTT &7 §19r? / When an ideal gas is expanded from high pressure to low pressure using Joule

Thomson valve, what will be the temperature at low pressure side?

(A) %HT / Decreases
(B)  gfg/Increases
(C) ST argcarg, 3R & 9aar § / Neither decreases nor increases

(D) AT °UT SATAT &, AT S ST & / Either decreases or increases

ATsieeR 31FeT & 10T & AT STAATS Y STT= aTell Tshal I AT &

Name the process used for the manufacture of Nitric acid

(A)  T¥aL wshe / Contact process
(B) 3fEcdres Usha / Ostwald process
© BT Ysha / Haber process

(D)  HrHTeR&T YshA / Lead chamber process

HCI 3iR Cl, #r 3ma%r wiaTs arer: 1.36A° 3R 1.98A° ¥ EIS5I9T o Wgadiateh 49T 4T 572 / The bond length

of HCl and Cl, are 1.36A° and 1.98A° respectively. What is the covalent radius of hydrogen?

(A)  0.37A° (B) 062A° (C) 068A° (D) 0.99 A

defa Gew (WA fae) / Sci. Asst. (Chemistry) - 2018 - 3TEN3MEHVIPRC
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33:

34.

35.

36.

wesT 9FT 1= / Question Booklet Code| A

U T &1 T T 0T Y, TR S-SR aereed 1A° [h=6.626x10 kgm’s 1§

Calculate the momentum of a particle which has De-Broglie wave length of 1A° [h=6.626x1 0% kgm?s™]

(A 6.626x10* kgms™ (B) 6.626x10% kgms™

(C)  6.626x10% kgms™ (D) 6.626x10%* kgms

12 B3, MgSO, (31T0ae gezraier 120) ier .31, STef & JereT STl 31 shoelish T £ / What s the degree of

hardness of water containing 12 mg of MgSO, (Molecular mass 120) per kg of water?

(A)  0.1ppm (B) 1ppm

(C) 10 ppm (D) 12 ppm

37T il &1 % ¢ / The order of ionization energy

(A)  s<p<d<f (B) seped>f

(©) s>d>p>f (D)  s<d<p<f

TRIASERT a1 # ifereiisreT ohr 3HTRIch Qe T &2

What is the partial pressure of oxygen in atmospheric air?

(A) 21kPa (B) 23kPa

(C) 77kPa (D) 79kPa

7ferF gerae (W [e) / Sci. Asst. (Chemistry) - 2018 - JTEHIMRHNIPRC "




37.

38.

39.

40.

w9 IT3&T #15 / Question Booklet Code| A

1 olleX ST 3 6 A1 o IRAT 1 Faeltat fomar Siar §, 3R 1 ofiex 57t 7 34.2 U197 Fhid a1 faeliet fopar Sar |
IRAT & HROT TG & arsg ard 7 HeAT & / 69 of urea is dissolved in 1 litre of water and 34.2 g of

sucrose is dissolved in 1 litre of water. The lowering of vapor pressure of the solution due to urea is
(A) g @ HA/ Less than sucrose

(B) g o s’ / Equal to sucrose

(C) eI & 31 / Greater than sucrose

(D) TR w1ET fFar ST Whar § / Cannot be determined

&7 <1 el rerehall / The electrical conductivity of a metal

(A) g dI9HT & AT §¢dT ¢ / Increases with increasing temperature
(B) Gl JdT9HTT o AT Ul § / Decreases with increasing temperature
(C) QMU & ¥ & / Is independent of temperature

(D) 3IWIFT H T H1S 3T 7T / None of the above

3N-gISgIrdT cleset 3R dfTer Uehiglel & / O-Hydroxy toluene and Benzyl alcohol are

(A)  H@eT GATGIG/ Chain isomers

(B) TTeT GHATGIT / Position isomers

(C) YehrdTcHs TATaId / Functional isomers
(D)  3IWIFd H A FIS &l &7 / None of the above

GESICRCRIGIEIE R % &9 & geiiehe & / The following reaction is classified as
CH3CH,l + KOH(aq) — CH3CH,0H + KI

(A) =/ Addition (B) fRIEHUT Elimination
(C)  wfawemysT / Substitution (D) 3RIEFd 7 ¥ FIS & A8 / None of the above

defae gers (TW fae) / Sci. Asst. (Chemistry) - 2018 - 3TENHRHVIPRC 12




g qf3eT 13 / Question Booklet Code

41.  pH 2 & o= &1 [H] F37 § / What is the [H] of a solution with pH 27?

(A) 02 (B) 0.02
C) 0.1 (D) 0.01
42, ¥ =T3S 3 eifeid § / The lanthanide contraction is related to
(A)  gsica / Density (B) EaIiehar geiergi«l / Valence electron
(C) 3« 331/ lonic radii (D) =TIfHT geg A / Nuclear masses

43.  ReAfafad & & i ar &.8).0.0H, & 9T I oltel 31 &l 672

Which of the following gives blood red color with KCNS?

A cu* (B) Fe*

) A (D) zn*

44.  TFH SEHAINT Tel FHT AT FHAIT ¥ / Nernst equation of a reversible cell is

(A)  E=E°- (2.303RT/nF) log K (B) E°=E - (2.303RT/nF) log K

(C) E=E°+(RT/nF)InK (D) E=E’-(2.303RT/nF) InK

7IfrF Gerds (T fa) / Sci. Asst. (Chemistry) - 2018 - JTERARHVIPRC
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w9t gf¥&T #15 / Question Booklet Code| A

45.  3feeT emAF H forer IR &1 3UTeT foRaT SITAT §2 / Which gas is used in fire extinguishers?

(A) e STE3iEETSS / Carbon dioxide

(B)  =ISgIei ifFaTss / Nitrogen oxide

(C) e ARFETSS / Carbon monoxide

(D)  TeUR SIE3HTFATSS / Sulphur dioxide

46. ST Uk TR T Ueh Telraeh & Siier e §, a aRome e s arT e gar

When a solute is added into a solvent, the vapour pressure of the resultant solution is

(A)  TIoIIe & arsq g1a & 311™e / More than the vapour pressure of the solvent
(B) TIEIRIeh & 9T &1 ¥ & / Less than the vapour pressure of the solvent
(C) T o arT g1d & sx1e/ Equal to the vapour pressure of the solvent

(D)  3Riad H T HIS 3T 78T / None of the above

47.  foefafd smg=t F & @ia & el B o 3o 77 §?

Which one of the following ions has the higher value of ionic radius?

(A) Li* (B) F~ (c) o* (D) B*

48. 100 ITH STeT F 24.5 YTH BIEHIR 31l (MG GeqATT 98) & [AelT T UTH-3M0TGAT (V) AT §72 / What is

the molality (m) of the solution that contains 24.5g of Phosphoric acid (Molecular mass 98) in 100g of water?

(A) 0.25 (B) 25 Cc 4 (D) 25

defae TgEw (T faaeT) / Sci. Asst. (Chemistry) - 2018 - 3TSd3mHYIPRC 14




49.

50.

51.

52.

9T f¥&T F13 / Question Booklet Code

mmﬁw@amﬁaﬁw@rwﬁ

Identify the salt formed from strong acid and weak base

(A)  Na;SO4 (B)  (NH4)2SO4
(C)  CHsCOONH, (D) KoCOs

YT ST T 3E1610T & / An example of buffer

(A) @iz dEee 3R THifees 31 / Sodium acetate and acetic acid

(B)  WIf3UH Feirss 3R gregiFeliNa 31Fel / Sodium chloride and Hydrochloric acid
(C) 3T FeiRss 3R vfafes 3@ / Ammonium chloride and acetic acid

(D)  WifEyH ageEiae 3R WfFFe Wee / Sodium bicarbonate and sodium acetate

22 %Y |ieT &1 e & / Purity of 22 carat gold is

(A) 100 % . (B) 92%
(C) 78% D) 22%

aifes 31+ & / Acetic acid is

(A)  gue degasiaaca/ Weak electrolyte
(B) Ve degd3ETyd / Strong electrolyte
(C)  Taegd 3=y / Non electrolyte

(D)  3WieFd F I &S ol 161 / None of the above

S weTe (TATa [=) / Sci. Asst. (Chemistry) - 2018 - TEHERANIPRC
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54.

55.

56.

99T I3 13 / Question Booklet Code| A

e SCIFARTES (CCly) § /Carbon tetrachloride ( CCly) is

(A) 3= AR / lonic compound (B)  &d Al / Polar compound
(C)  3mdr Ak / Non polar compound (D) IWIFd H A 15 o7 =TT / None of the above

A& Figar edf & & sie a1 avseT § gRads § goiad 872

Which one of the following concentration terms is affected by change in temperature?

(A) ATHITITHAT / Molarity (B) 9T 3T0Tadr / Molality

(C)  IH3T 32T/ Mole fraction (D) R 3727/ Weight fraction

STeT o 9T ofdoT &l SirS=T / Addition of salt with water

(A)  T&HIek S dgIaT § / Increases freezing point
(B)  TRAT® ol Terdr §/ Decreases freezing point
(C)  gYeIish I "I & / Decreases boiling point

(D) 3WieFd & T @15 3 A&7 / None of the above

18°C WY, 0.01 N & UEIfes 31ear # f3AVeIeT AT 0.042 gidT &1 31T & o ReRrie Ka &r Iorer &y / At

18°C, 0.01 N Acetic acid has degree of dissociation of 0.042. Calculate Ka, the dissociation constant of the
acid

(A) 1.66x107 (B) 270x107°
(C) 1.84x107 (D) 3.19x107°

Fwfas gee (WA A1) / Sci. Asst. (Chemistry) - 2018 - ITENIRAVIPRC 16
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58.

59.

60.

weeT 9f¥aT #15 / Question Booklet Code| A

DTt & ¥ Si 9T 37999 39 GOl & 3 selieh 7 &2 / Which one of the following elements is in d block

of the periodic table?

(A) A/ Sodium (B) fA3ifT / Neon
(C) @RI/ Chlorine (D) @gT/Iron
v Yeerstt dea, e Yo T T ScHoTe I & | ScHoI & §TG, Sieldh dcd &l GodHle HEdT gt/

A radioactive element emits an alpha particle. The mass number of the parent element, after emission will
be

(A)  crseEar ¥ 3178 / More by two units (B) TR eIl & 31f¥Ieh / More by four units

(C)  crswhisdl ¥ & / Less by two units (D) TR gehISAT ¥ A / Less by four units

TF (CH3CO),0 & Fiferen 1 AT & / The name of the compound with the formula (CHsCO),0 is

(A)  UHIET / Acetone (B) UEifeeh UeAgIsgIss / Acetic anhydride
(C)  sTEUHEIee / Diacetyl . (D) sEAY TenssHifFad / Dimethyl glyoxime

qar 9, &/ Dry ice is

(A) 3T Fe-ss3IEass / Solid carbon dioxide
(B) 3 AT/ Solid ammonia
(C) 3 HIee FAiAtFarss / Solid carbon monoxide

(D) @ Ster/ Solid water
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ISRO PROPULSION COMPLEX
Mahendragiri

Written Test held on 21.04.2018 for Selection to the Post of
Scientific Assistant (Chemistry) — Post Code:002
vide Advt. No.IPRC/RMT/2017/01 dated 07.10.2017

ANSWER KEY
Question Booklet Code A
B Qn.No. | Ans.Key ~Qn.No.
01 B 31 B
02 C 32 A
03 D 38 D
04 D 34 C
05 A 35 B
06 B 36 A
07 D 3F B
08 A 38 B
09 B 39 C
10 B 40 C
11 C 41 D
12 C 42 C
13 B 43 B
14 B 44 A
15 C 45 A
16 C 46 B
17 B 47 C
18 D 48 B
19 Cc 49 B
20 ek 50 A
21 B 51 B
22 A 52 A
23 B 53 C
24 A 54 A
25 C 55 B
26 D 56 C
27 B 57 D
28 B 58 D
29 D 59 B
30 C 60 A

** Question not considered for evaluation



